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1. REE GTTTE Wiy BN 4y s .
TUTen sirfers wferedy wefer amy?
1) 20 @ o
/ : . i (3) fraa (4)
Sustainable international financing 4 )
G20 ‘NG scheme’ s agsociated with which global association ?
(1) (2)  ASEAN o
(3) BRICS (4) SAARC
 eh | : S
2 TS a1 @l v sifre 2021 weY wrefetah BT FUT YRGB ag?
1) = sRT ) s ®) R
t h A ;
16" World Youth Archery Championship was held in August 2021 in which of the following
nation ?
(1)  South Koria (2) Poland (3) India (4)  Australia
3. WKH R sEare Wit (NFRA) ¥ srener wo[ 0wl e #0am ol ams?
(1) 3 o W (2) e P
(3) 3 Hon (4) fra TEIEWH
Who has been appointed as the chairman of the National Financial Reporting Authority (NFRA) ?
(1) Ajay Bhushan Pandey (2) Nandan Nilekani
(3) Azim Premyji (4) Kris Gopalakrishnan
4. FoEm FEy HaEeE ‘My CGHS Aare Sefider e ber?
1) foeo Hw=meE (2) ARG HARH
(3) wiea #HEE (4) wiRpRE HoTer
Which Union Ministry launched ‘My CGHS' Mobile application ?
(1) Mmlstry of Education (2) Ministry of Health
(3) Ministry of Tourism (4) Ministry of Culture
5. o dur 2022 @1 ‘wiiey] e’ @i we?

—

(1) ferm (2) emf@ (3) s @) Srferm
Which country launched the ‘COMPETES ACT of 2022 7 .
(1) Russia (2) USA (3)*UK (4) Australia

HET FIHIETS AT / SPACE FOR ROUGH WORK ; : ~PT.O.
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6. mwwmmu@mé-ﬁﬁmm;'mm'mmmﬁ
3Me?
(1) = T (2) o 3) @ Wt (4) o wH

Indias First RT-PCR kit to detect the Omicron Variant, named ‘Omisure’ is developed by which

company ?

(1) Tata MD (2) Piramal (3) Sun Pharma (4) Apex Pharma

7. 9gYF TMUMT 2019 TER HERTS A€l <UHE YN qede feadl BHie ArTar?

(1) gfeem (2) fow (3) T (4) a4l

According to livestock census 2019, what is the rank of Maharashtra in terms of livestock among
the country ?

(1) First (2) Third (8) Seventh (4) Nineth

8. I W Y% Yiewrd ifidie 4 Ren (PPS) Rrsfi ot amy?
(1) “RHE Se SR 36 R
(2 wRaw ReE ¥
(3) i SmaRT
@) e HErew
Which institution has developed thé ‘Positive Pay System (PPS)’ for Cheque Payment ?
(1) National Payments Corporation of India
(2) Reserve Bank of India
(3) Niti Aayog
(4) Ministry of Finance

9. ‘PERITNISH JARITLR e REPR—2021" DI TS YU AT SH?
(1) . 9o gAR (2) =f. WA, qeER
(3) =l I I« (4) S, gl wE
Who has been awarded the ‘International Gandhi Award for Leprosy-2021" ?
(2) Dr. G.P. Talwar

(1) Dr. Bhushan Kumar
(4) Dr. Atul Shah

(3) Dr. M.D. Gupte

AT FTHEIE AN / SPACE FOR ROUGH WORK
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12,

, (3) =T 4 dwrv
Which space agency h

as released tho first vigible light im
(1) ESA (2)  JAXA

ages of the surface of venus from space ?

(3) NASA (4) CNA
\‘

TeD YA BRI 2019@13@@3%%%%%%‘ o

() ¥ PRIRT 20 R 2020 UG 1 gy

b I et

Frrrgar 10 e woaiwdes TS poed eh HAHRS
TR T8
T S
(1) T (2) T () (2 faEm (a)
@) faEm () 7 (o) (4) fem (o)

Which of the following statement is incorrect in respect of the Consumer Protection Act 2019 ?
(@) This act came into force on 20t July 2020.

(b) Unfair trade prohibition rules on e-commerce platfornis are included in this act.

(©

As per the rules of the consumer Disputes Redressal Commission no charges will be levied
for complaints upto ¥ 10 lakhs.

Answer Options :
(1) Statements (a) and (c) (2) Statement (a)
(3) Statements (b) and (c) (4) Statement (c)

AR HEeaTiel A’ a1 Saikel MEAT TR Hurer S9! Heaqul Fedrl amer Si?
1) wum (2) ST B
(8) WIH oRE PR 4) Wi

Which one of the following country has provided instrumental support to India’s ambitious space
mission ‘Gaganyan’ ?

(1) Japan (2) South Koria
(3)  United Arab Emirates (UAE) (4) France

N FHHMETN ST 7 CoACE £EAD RALIGH WORK
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13. JHaTT VARE PO TT AR A Ve - 85 B DIV AWMEN RIER SITE 87
(1) R (2) AN @) W 4) ITEX. 7
NROL-85, which was launched recently, is an intelligence satellite of which country

(1) Russia (2) Israel (3) France @4) USA

14. GRS TUHEST aul e ¢
(@) 2013 WY I werw HE AT RETCSHEY B Fe,

) I RESR@GA AT fodere Tften yRE i
(c) T AT HERTE NI 2021 7 FIT BROGM arey,

il ew
(1) a1 HIeeY (2) oM Hraer
@) TN H (4) ¥ emR

Identify the person from the following discription :

(3) In 2013 she acted in the film ‘mai’ for the first time.

(b)  The first Indian singer to be nominated for a Grammy Award.

(c) She was recently awarded the Maharashtra Bhushan Award 2021.
Answer Options :

(1) Lata Mangeshkar (2) Asha Bhosale

(3) Krishna Kalle (4) Shanta Apte

15. aﬁawﬁmzozlwwwmﬁmﬁ.wmwmﬁm ,
Fe amE? .
(1) FEAve. Wie el Hem Aedh qfd
2) TEE THRUNES ded afid
(3) IR TS R FREd
(4) AP THE TE

The Supreme Court has appointed Justice R.V. Ravindran Committee in October 2021 for which H
of the following purpose ?

(1) IPL spot fixing scam enquiry

(2)  Pegasus snooping row enquiry
(3)  Aadhar Card Policy confirmation
(4) None of the above

<A1 FMTET AT / SPACE FOR ROUGH WORK
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16.

mwmmmﬁmzﬂmm? AL
(a) R STHCTR T 315 9 323 We RS,

() ¥ ST RN W SRR w7,

(©) a1 ST TS T TR arftraTarean ST HEIR PN I

(d) AN ST T WS AHUH] GG Pedl .

T T
(1) W () A (O) () W (a) AT (C)

(3)  (b) ST (0) (4) e (b) T ()

Which of the following statement/statements regarding State Public Service Commission is/are

not correct ?

Provisions in Articles 315 to 323 of the Indian Constitution.

These Commission are working for the State Government as well as the Central Government.

The appointment of the administrative officers selected by this Commission is done by the

Central Government.
(d) The chairman and the members of the Commission are appointed by the State Government.
Answer Options : |
(1) Only (a) and (b)

(3) Only (b) and (c)

(2) Only (a) and (c)
(4) Only (b) and (d)

17.

wmmmﬁm#@mw__aﬁwmmm.
(1) ITEEd @) o fraeu S '
(3) RToUUTEA (4) wRare frafas smanT

Elections in India for Parliament and State Legislatures are conducted by : {
(1) President (2) State Election Commission
(3) Governor (4) Election Commission of India

P.T.0.

F=1 FHTATE AW / SPACE FOR ROUGH WORK
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18. wrelea) B A vara wsaRiERe T ?

(1) omhe dEa wfrd (2) TSR wfry

(3) o i (4) vamE. Rigd wfd
Which of the following Committee is not related to the Panchayati Raj ?
(1)  Ashok Mehta Committee (2) Rajmannar Committee

(3) Thungan Committee (4) L.M. Singhvi Committee

19. WRAW WM SO Sede e Ok od e Se aned?
(1) oo™ - 163 (2) P - 166 (3) HoH - 167 (4) e - 164
Which Article of the Indian Constitution defines the duties of the Chief Minister ?

(1) Article-163  (2) Article-166  (3) Article-167  (4) Article - 164

20. R YIS Wil Do Ry Rifee e Saee a7
(1) WHRY H9aT wWHY
(2) WeRY AfHEs WHy
() U™ I
(4) wE <

Which among the following features of Indian Constitution is not borrowed from British
Constitution ?

(1) Parliamentary form of Government
(2) Cabinet form of Government
(3) Rule of Law

(4) Concurrent List

AT T AT / SPACE FOR ROUGH WORK
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21, TSN VETEN GG el PR wer aaY e ?
() Tdid AT QRiwdd IS S ey e
(b) NoUTEl G 3] T TS 9 Y.
(c) Nrouurerdl fga wdaROMO U gl SR,
(d) gﬂﬁmﬁ%vaﬁamﬂﬁmmewqamm.
i S
(1) wad RE (a), (b) T (o) TR e
(2) waE R (a), (b) T (d) TR e
(3) W M (b), (o) 7 (d) TS e
@) w4 fagm SR M
gr:tlcl; of the following are the correct statements regarding the tenure of a Governor of the
e’
(a) Governor remains in his office as long as President of India wishes.
(b) Governor may resign voluntarily.
(c) The appointment of Governor is generally for 05 years.
(d) Governor remains in his office until another person takes charge.
Answer options :
(1) Only statements (a), (b) and (c) are correct
(2) Only statements (a), (b) and (d) are correct
(3) Only statements (b), (c) and (d) are correct
(4) All statements are correct
22, WWWWWWWQW

(1) deAqHE ged (2) HAEREC] ES
() ereedl FOUREA AT (4) I, oW TR

Who among the following was the members of the drafting committee of the Indian

Constitution ?
(1) Vallabhbhai Patel (2) Jawaharlal Nehru
(3) Alladi Krishnaswamy Iyer (4) Dr. Rajendra Prasad

P.T.O.

Fo FTITETE A1 / SPACE FOR ROUGH WORK
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23. AW YA Y@ aEiEr g Sl
(@) wae wd v AR fra T TR g,
®) 18 a8 Wi ORI YRS HAIR YFRINET NG G,
() TFHEWen FaSUE S,
(d) THIERAN W4 WOSR ITRNY GERIG ST,

il O ¢
(1) W (a), (b) M () (2) W (b), () 3 (d)
(3) W& (a), (b) 3T (d) 4) et wd

Make a group of correct sentences in the composition of the Gram Sabha :

(@) Gram Sabha is formed from all the adult citizens of the village.

(b)  Every voter who completes 18 years of age becomes a member of Gram Sabha.
(c) Gram Sabha has election.

(d) All the voters of the Gram Panchayat are members of the Gram Sabha.
Answer Options :

(1) Only (a), (b) and (o (2) Only (b), (¢) and (d)

(3) Only (a), (b) and (d) (4) All the above

24. 737 Wfau ween e, 1993 MR wm damd Sva el T TSR,
(@) TIYIR HEI AN BROY
(b) =T, oY ¥ $ER et few By
() T 9 Faae Rueomd gRen Sy woa 201
(d) AR SFNTS! HRARSHE oaeen Sy
RSS! BIVTT/BIO I TR A ?
1) T (b) (2) T (d)
(3) ®F (a) 3T (d) (4) S (b) S (c)
New responsibilities given to Gram Panchayats as per 73'd Constitution Amendment Act, 1993.
(a) Enforcement of Land Reforms Act
(b) To develop forest industries, small and cottage industries
(c) Facilitate technical and vocational education
(d) To arrange entertainment for the people of the village,
Which of the above statement/statements is/are incorrect ?
(1) Only (b) () Only (d)
(3) Only (a) and (d) (4) Only (b) and (c)

FoAT FITGIE AT / SPACE FOR ROUGH WORK
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25. TR XTSUTe WEIRATT STEl 3R WYy Ferdre G bl 3Me? -
(1) e 194 (2) e 177 (3) e 197 (4) T 165
Which article states that each state shall have an Advocate General ? ‘
(1)  Article 194 (2) Article 177 (3) Article 197 (4) Article 165
26. TERTCEIE TQEEC Wued 9 wied dridsredn Sre .

(@) AR wiow (i)  STERTERI

b) <f. fegmy s (i) &M

(c) <SIENRY WUS (i) T snfor ARG
(d) TMER < (iv) JaaTes
qgia e

@ () (9 (@
1 @ @ @O @)
2 @ @ @) @
@) @) ) @ @
4 @) @ @ @

Match the following organizers of the Secret Militant Organizations in Maharashtra and their

areas.
(@) Shridhar Paranjape () Amravati
(b) Dr. Siddhanath Kane (i) Belgaum

(c) Dadasaheb Khaparde (i) Wardha and Nagpur
(d) Gangadhar Deshpande  (iv) Yavatmal
Answer options :
@ (b) (g (d)
) @) @ @ @v)
) @) @) @) (@)
) () (v) (@) (i)
) Gv) @) (i) ()

FTAT TS A / SPACE FOR ROUGH WORK

P.T.O.
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27. <. WE AN TS ¥ W YREHS D7

(1) =0 ggem (2) wrmfers Ygam

3) Rua gfdaw (4) fawh wf

What Dr. Bhau Daji Lad was the proponent of ?

(1)  Female old age home (2)  Social discrimination

(3) Widow remarriage (4) Christianity

e ————

28. 1847qm§@mamwmmmﬁmmmwmwmmwnmm

Fel BA?

(1) wEe () S wre (3) et () et

In 1847 who was the first to demand the launch of
cotton producing regions ?

(1) Bright (2)  George Layite (3)  Willogby (4)

a railway connecting the Mumbai port and ¢,

Prescott

29, mmmﬁmﬁwwmﬁﬁaﬁmm?
(a) wﬁmﬁmmmaﬁaﬁém@mmw%ﬁﬁﬁ.
(b) ﬁﬁ%ﬁaﬁﬁmwmmw%mm.
(c) %ﬁmwﬁm?ﬁmwmnﬁmwm@r

(d) wuﬁﬁﬁm%aﬁwgmﬁmwm
T SN

(1) (a), (b) 2nfoT (d) R REx amia,
(2) (a) 2nfor (d) Regr REx amdg,
(3)  (a), (b) 30T (c) fag™ a_RER ama,

(4)  (b), (c) 3T (d) e e_Ex ama.

Which of the following statements are true regarding the development of transport infrastructure
in India ?

(a) The Public Work Department was created during the time of Lord Dalhousie.

(b)  During the reigns of Lord Cornwallis and John Shore road construction gained momentium.
(c) Broad gauge tracks were built during the early days of the railway.

(d) Nagpur Council presented
Answer options :

(1) (a), (b) and (d) statements are correct
(2) (a) and (d) statements are correct

(3) (a), (b) and (c) statements are correct
(4) (b), (c) and (d) statements are correct

“Twenty Years Road Development Programme’ to the Government.

AT FTHIATS AR / SPACE FOR ROUGH WORK
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31.

(4)

afir st ter o wrer sprafen srare Giren @,

13 A6

et SRIIAd areeaa ayndy A i st ?

(i) ImRslll SRR ETITE mmd "Wy llzrm}’ Wil oY e,

(by el I Iy gy ol vhffer e,

() el qandy e leamay yipsen e,

(;I) al e m alftiam Jlm \Ht*nmiu” ‘r|r]‘)l‘|'{";]1” ",‘l'f”” (Hon :q”,‘;,

L IRUIAE

(1y (M famey ey anmive (2) (), (b), (c) e’y Tl et
M) ) (D fauey gy amyer (4) (n), (}-.) faurt = A et
Which of the followlng statements are false regarding revoll of Santhala ?
() Economic exploltation of Santhala Is presented in Punjab Review,
(1) Ganthala declared the decinion of establinhment of “State of Truth’,

(¢) Kanhu the leader of Santhala wan trencherously kidnapped.
() O Mauli, the officer gave the report of duel of Santhala,

Answer Oplions
“) (I‘); (ll) statements are fnlne (2) (“)’ (l))’ ((') statements are false

() (b), (©), () wlatements are false — (4)  (a), () statements are false

e i g ST

(a) wen @il ailgu, e (1685) () ifof ger
(b)  guY @i aftrquer, wer (1886) (i) aggd e

(iiiy drivereie i

() forny ati aiftrdver, TART (1857)
(v) @marrg ARon

() her @l siftraer, SEErEG (16848)

gatf) om
(@ ) () (@
(1 i) (v) (1) ()
@ i) Gv) @) 0)
() i) 0 ) (v
(4) (v) () (i) (i)
Match the pair place of the Congrest Gonsion and his l’runhl(rﬁls name.
(0)  First Congress Gogsion, Mumbal (1685) (i) George Yul
(b)  Second Congrest Gogsion, Caleulti (16886) (i) Badruddin Tayyabji
(¢)  Third Congress Gegnlon, Madrit (1487) (1) Womeshchandra Banarjee
(d)  Fourth Congress Gognion, Allahabad (1888)  (iv) Dadabhai Naoroji

Answer options :

(@) () () ()
(1 (i) vy () ()
(2) (i) (iv) (i) ()
(3) (i) @) @) (iv)
(v) () (@) (i)

PT.O.

T YIS AT / SPACE FOR ROUGH WORK
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32. Rfteien wRad sefamda @Rlld SO 9929 Br?
() = Wyl TH (b) SRR T
(c) oRie wewiar = (d) YRarE e fer @O
el P fAu/Rym R ma?
D @3 @ @2 ) () B) (o) wa= 4 (b)®ad
Which of the following was the aim of ‘Trading Economy” of British Government ?
(@) No Trading competition (b) Maximum profit
(c) Control on economic factors (d) Economic growth of India
Which of the statement given above is/are correct ?

1) (a) and (b) (2)  (b) and (c) (3) (9 only (4) (b) only

33. IrY WSl @l
(A) (B)

(a) 1890, §u3 R HFIR HeeA (i) e ATIaR™
(b) 1918, SETRWIG THACH oW R SEIRWEE (i) A IrEEn
() 1918, A=19 WS} IFHEA (iif) @A AT
(d) 1920, sieT ST T g BRI (iv) R Aol drES
T S :

@@ ) (¢ (@
1) @ G @ @)
(2) Gv) @) @ @
() (v) @@ @) (@)
@ @ @@ @) @

Match the pair.
(A) | (B)
(a) 1890, Mumbai Mill Workers Union () Lala Lajpatrai
(b) 1918, Ahmadabad Textile Labour Association (i) B.P. Wadiya
(c) 1918, Madras Labour Union (i) Mahatma Gandhi
(d) 1920, All India Trade Union Congress (iv) Narayan Meghaji Lokhande

Answer options :

(a (b) () (d)
1 @ @ @O @)
(2 (@v) @) @@ @)
(@) (v) @@ () @)
(4) (@) () @v) (@)

=1 FHHTATS AT / SPACE FOR ROUGH WORK
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@ @ @ @)
@ @ O )
(3) (@v) () ()
(4 @) @) o

(i)

15 Al6

() wXa A FETEer Wi e

(i) Rl frerr=tea ATeAT e Adrg AT WD
qy PEdIol

(i) WWHWWW

(iv) g fig Bierordn e

Choose the correct option by matching the following :

(a) Acharya Bal Shastri

Jambhekar

(b) Durgaram Manchharam,
Dadoba Pandurang

() Annie Besant

(i)
()

(d) Keshavchandra Sen

Answer options :

(@) (b) (9
(1) @) @ @)
@ @ @ )
(3) (v) (i) (i)
@4) (i) @v) ()

R IS WO/ SPACE FOR ROUGH WORK

(d)
(i)
(i)

Establishment of Manav Dharm Sabha at Surat

Purification of Shripad Sheshadri Paralikar was done who
was in the custody of Christi Missionary

Establishment of Normal School and Victoria Institute

Establishment of Central Hindu-College

PT.O.
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35. TuTe O SRR Jreten B geeS el gdr?
() HE T WS
(b) TET THER
() WuUR®
d) R
TS DR /Ry W eme/ar?
1) () 3T (o) wawr (2) (), (b) T () B
©) () S (d) B 4)  (b), (c) 3T (d) By
Gopal Ganesh Agarkar was related with which of the following Newspapers ?
(@) Kesari and Maratha
(b) Varhad Samachar
(€) Sudharak
(d) Swarajya
Which of the statement/s given above is/are correct ?
(1) (2) and (c) only (2) (@), (b) and (c) only
() () and (d) only (4) (), () and (d) only
36. @rie FRvmaed 2m ) st

(@) ‘= TR O gw Pl
(b) = JIERITIEE AT

(© == e sifaoerEd <oy
(d) IR I B sreny

IR SN
(1) =ErEE AR (2) TiTEET TRy
(3) T e @) faen amer

Identify the person from following description ;
(a) He started the Newspaper ‘India’

(b) Establishment of Bombay Association

(c) Establishment of East India Association
(d) President of Indian National Congress
Answer options ;

(1) Dadabhai Naoroji (2) Gopal Krishna Gokhale
(3) Firojshah Mehta (4) Dinshaw Wachha

FHeT FTHTETN AR / SPACE FOR ROUGH WORK
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37. Wa@v@mﬂ@mmﬁwﬁﬂﬁaﬁﬁmmm?

(a) fEg a gRem & A T ongt AR s M
®) e afdn ST ¥ SO RgReIT i aver Wi ey gferi
"mﬁmmmmwmwmﬁﬁmm
(d) *HRaren mmﬁwmmwawamz”.

féqurg a1 bl Tifes.

(©)

ﬂ'ﬂﬁ’ia‘ﬂi’:
(a) (b) (© - (d)
1) vEE 9 W TS eI CIAMRCICEC Y Hewg st for
() WX A IE A 9@ HeHg et o fy =1, AERe}
@) faar |ERax HeHe aren o yad 9@ W GG IS
W TG eI fy a1, AERH yad 96

(4) g s o
Who made the following statements which caus

(a) Hindu and Muslim are two nations and these are two opposite countries.
be adopted in India and Muslims should be kept away

ed the growth of Communalism ?

(b) The policy of divide and beat has to
from Hindu.

(c) Mahatma Gandhiji's Civil-
keep Indian Muslims under

(d) Those who are recognizing India as their motherland, India is

Disobedience Movement is not totally for freedom of India but to
the domination of Hindu Mahasabha.

their nation.

Answer options :

(@) (b) () (d)

(1) Principal Sir Sayyad V.D. Sawarkar Mohamad Ali
Bake Ahamad Jinnah

(2) Sir Sayyad Principal Mohamad Ali V.D. Sawarkar
Ahamad Bake Jinnah

(3) V.D.Sawarkar Mohamad Ali Principal Sir Sayyad

Jinnah Bake Ahamad

(4) Mohamad Ali Sir Sayyad V.D, Sawarkar Principal Bake

Jinnah Ahmad

FHEA1 AT ST / SPACE FOR ROUGH WORK

PT.O.
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38, 1R 1866 AN e wdve §ee g0 oRARIGERT ey YA W eIy

@ N o () oy Rramr
© o Rewm (d) i Rrarr

TN B A/ AR T e ?

O @It @ et @) (e () ()

What was the aim of East India Association organisation, established on 1 November 1866 ?
(@)  Female Education (b)  Political Education

(¢)  People Education (d)  Religious Education

Which of the statement given above is/are correct ?

(1) (@) and (b) (2)  (b) and (d) (3)  (c) only (4) (d) only

39. IN. IQSSWWWWMWWWW?

() eva B (b) Rord d@ sitw e
() et XN () T HhER
T v

(1) @) @) @ @, b))

(3) (@) (®)3(d) (4) W wd

Government of India Act of 1935 provided for establishment of which institutes ?

(a) Fedral Court (b)  Reserve Bank of India

(c) Fedral Railway (d)  High Commissioner
Answer options :

(1) (@), (c) and (d) (2)  (a), (b) and (<)

(3) (a) (b) and (d) (4)  All of the above

Tl FTHTATS AR / SPACE FOR ROUGH WORK



C 19 Al6
40. 4 IR orIRTTY TR @rele wivr @eR wef err?

(a) U ORI ARG (b) fARreE AEw

(0 TEIE TRl (d) . e
i) S

(1) (@) (c) T (d) W ) (b, (c) ST (d) B
(3)  (a) 30T (b) B (4) () afer (d) o

Which of the following personalities were related with Bombay Presidency Association
Organisation ?

(a) Gopal Ganesh Agarkar (b) Firojshah Mehta
(c) Badruddin Tayyabji (d) Justice Telang
Answer options :

(1) (@) (9) and (d) only () (B) (c) and (d) only
(3) (a)and (b) only (@) (9 and (d) only

41. mmwmﬁwnmwaﬁﬂwwwﬁmwm:
(1) 1 HORIE FH TR
(2) e IS TR 96
(3) IS FerE Y
(4) SrenfireRoTEr U

In the decade of 1911 to 1921 the Population Growth in the State of Maharashtra was negative.
The reason behind it is .

(1) Low birth rate during that period
(2) High death due to epidemic

(3) More deaths due to flood

(4) Lack of industrialisation

42, mmmwmﬁmammwm

(1) ofem dma (2) NS 3) BIETS (4) W= W
Bhilai Tron and Steel Industry is located in the state of
(1) West Bengal  (2) Odisha (3) Chhattisgarh  (4) Madhya Pradesh

T FTHTEIS WA / SPACE FOR ROUGH WORK PT.O.
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43. T Rum a9 ap?
(@) e wEEwn siseErd I SRR S e T8

(®) A R mmmmmm—%mmmwﬁmmmm‘
TRl S

(1) () 3 (b) v Reaw .

@ () ST (b) A Ry .

@) (a) Ry TR ol ) Rum A (RR) e,

() (2) UM Oy (qRIR) a1 (b) Rem g o,

Following statements are correct or incorrect ?

(@) Commerdialisation of agriculture did not promote capitalist - agriculture.
(®) Commerdalisation of agriculture intensified tenancy and share-cropping.
Answer options :

(1)  (2) and (b) are true statements

(2) (a) and (b) are false statements

(3)  (a) is false and (b) is true statement

(4) (a) is true and (b) is false statement

44, chﬂa'ws"aa@aﬁmmmﬁwmm?

1) < (2 ardt (3) = (4) =
The multipurpose project of Gujarat “Ukai’ is situated on which River ?
(1) Sabarmati (2) Tapt ~ (3) Mahi (4) Narmada

45. 2019@?%@6%@%?{%&@%% AE?

(1) 9.0% (2) 8.4% 3) 7.3% (4) 9.34%
What is the percent share of tourism in India’s domestic income as of 2019 ?
(1) 9.0% (2) 8.4% B) 7.3% (4) 9.34%

46. WWWWW_WWWWWW?

(1) FERTEI @Y TOR (2) WERY Yda ety WEgs! SR X

(3) &R wge A= (4) YSUS Thew

Which of the following physiographic factor predominently influence on climate of
Maharashtra ?

(1) Deccan plateau in Maharashtra (2) Sahyadri mountain and Satpuda range

(3) Coastal plains (4) Mudkhed hills

F=A1 FUTATA AN / SPACE FOR ROUGH WORK
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g7, ERTETAE A AT BT W el R o, R PR TR § RS FHr
ame?
(1) @ giige aRiRew (2) Wi F@ e
(3) STRI® WiSTaar ST 4) ¥ e frr

Following are some of the problems in the agriculture sector in Maharashtra. Which one is more
social in nature ?

(1) Adverse weather condition (2) Limited Agricultural research

(3) Lack of financial capital (4) Fragmentation of farmland

48, TENISTE QRGO WIS Gelete! S Ricd sed?

(1) i (2) R (3) gererom (4) Tiggt
" Iron ore reserves in Maharashtra are located in the district of
(1) Wardha (2) Nashik (3) Buldhana (4) Sindhudurg

49. TR TGS GGG Gad A e 3. PR :

(d) T AT R IR 3.

T PR fem/Rem aRIER aed?

1 e @ PFE (3 @3rd 4 W
The population is decreasing continuously in rural area, because :

(a) The birth rate in rural area is low.

(b) The rural people are migrating to urban area,

() The employment is not available in rural area,

(d) The death rate is high in rural area.

Which statement/s of the above is true ?
(1) (b)and (c) (2) only (b) (3) (a)and (d) (4) only (d)

. AT AT A / SPACE FOR ROUGH WORK PT.O.
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50. WERTgTE yRe Sov-gfli P s oda/eir e
(1) wrgs (2) ¥pmERT
(3) TIHIS! (4) TN
Which is the mountain/hill situated on the North-South direction of western Maharashtra ?
(1) Satpura (2) Shambhu Mahadev
(3) Satmala (4) Sahyadri
51. FERTSIA S8 WA Aol idl 8iR0T bl WER $er?
(1) 2017 (2) 2018 (3) 2019 (4) 2020
When State Government in Maharashtra has declared the Blue Revolution Mission ?
(1) 2017 (2 2018 (3) 2019 (4) 2020
52. HRaG 1 fypren ‘gavi G U,
(1) «r (2) <R @) =gHE (@) =M
In India is called as a “Golden Fiber’ crop.
(1) Jute (2) Wool (3) Cotton (4) sik
53. Weiedel UE ARG 9feeH fFTRICE 99 Jaam a3 oy,
(1) == (2) wfear (3) wiean (4) FrEPIET
One of the following is an important port situated on the west coast of India.
(1) Chennai (2) Haldia (3) Kandla (4) Kolkata
54. TERTEZ YU HY GNIR Hewrdl TgEr Y FTA.
(1) 1986 (2) 1987 (3) 1988 (4) 1983
Maharashtra State Agricultural Marketing Board is established in ]
(1) 1986 (2) 1987 (3) 1988 (4) 1983
55. MERTZIG ‘H A Wi I9EE g9t e RURCHICEC G
(1) fFrRYed= v (2) uREH HERTE
(3) HRTEETST (4) q;é faest

The average highest temperature in the month of May is recorded in
Maharashtra.

(1) Coastal Region (2) Western Maharashtra
(3) Marathwada (4) Eastern Vidarbha

A1 FHETHT AT/ SPACE FOR ROUGH WORK
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56, W 2017-18 Wl AR Walfres weagr e g (FDI) 23.6% o A B
(1) Hor e (2) aegfrfor dm
@ e S aSE @ (1) fximr e
ety 2017-18 Foreign Direct Investment (FDI) was highest 23.6 percent in seicio it
(1) Communication services (2) Manufacturing sector
(3) Real and Wholesale trade (4)  Financial services
57, A SIS el
(a) SRS T e P e () T wHe wEm
(b) <TE Wl G 9 Hea dadier wei ) < T e e
() g SAENFTHSYIN BRI SROMRT SelT (i) IR S
(@ T ST A (v) T s
T S :

@ [® (0 ()

1 @ @ @) @)
(2 @@ @ @O )
@) @ @ @ @)

4 @ @) @ @

Match the following :

(@) Second largest agro based industry in India
(b) One of the oldest and organised industry in India (ii)

(i) Cotton industry
(c) Industry leading to rapid industrialisation (iii) Sugar industry
(d) Use of new technology (iv)
Answer options :

(@ (b) () (@

1) @ @ @) G
@) @) @) @ G
®) @) (@) @) @Gv)
@ @) (@v) @ G

Iron and steel industry

Automobile industry

e ——
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TSNS qE TARIET AT BRUARIE!, 2021-22 =1 Sref¥ithedrd 10 STETIET S iy,

:z\ﬁm e FHErd T 2217 DI USROG YT 38, ‘
62

Al6
58.

To tackle the burgeoning problem of air pollution, the 2021-22 Budget proposes to provide an
amount of ¥ 2217 crore for urban centres with a million-plus population.

(1) 32 (2) 42 (3) 52 (4) 62

—_—

59. U S YEH AN A W e emdrear wewtd @i fEm R o

(a) TIFEEEE 25 TEFp IR,

(b) YD TS IREEE! 335 TFRF WK,

() U SRS ST AR 16,5 ©Fp X,

(d) YEMEE SO AT 25 TRP UK.

TS SR/ Ram/A 9 s ?

(1) 98 (a) 307 (d) Arg emq (2) Pge (b) 3NN (c) T e
() @ (), (b) N (c) A7 emE (4 m(aj, (c) a7 (d) Ty e

Consider the following statements in the context of Seventh Finance Commission for distribution
of the states share of the central excise duty :

(@) 25 percent weightage for population,

(b) 33.5 percent weightage for poor in each state,

(c) 16.5 percent weightage for increase in the per capita income of the state,
(d) 25 percent weightage for income equilisation between state,

Which of the statement/s given above is/are correct ?

(1)  Only (a) and (d) are correct (2)  Only (b) and (c) are correct
(3) Only (a), (b) and (c) are correct (4)  Only (a), (c) and (d) are correct

T HHTHTS AT / SPACE FOR ROUGH WORK



' C
0. WIRQT 1980 1985 W TR A Wi e Aoard wrlietie PO sy B ?

25 Al6

() TP

©) T RN S

@ T St

(@) YT RO WY P e

i S ¢
(1) IS (a) 3T (d) 2) ¥a@ (b) & (¢)
(3) @ (a), (b) 3 (c) @) ¥ (b), (c) M (d)

Which of the following were the reasons for small land holdings during 1980.to 1985 in India ?
(@) Law of inheritance

(b) Rapidly growing population

(¢) Rural indebtedness

(d) Rapidly growing joint family system

Answer Options :

(1) only (a) and (d) (2) only (b) and (c)
(3) only (a), (b) and (c) (4) only (b), (c) and (d)
6l WERRE B TR SEE R 2000 ¥ SREE &Y
(1) SwreE wEr B B (2) PSR
(3) i geriard Aears o (@) <M Yo" TEF Tl RIGRUIRT Hiedre
Which of the following is not objective of National Population Policy 2000 ?
(1) Reduction in infant mortality (2) Universal immunisation
(3) Mid-day meal for poor children (4) Incentive to adopt two child small family

e

2 FTHHIE T / SPACE FOR ROUGH WORK
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62. 1993 WH WRORY _____ Uiwn emaareh Wt demder seward frjag PR
(1) ). G (2) Tﬁ%fﬁ Wm
3) @ VRWE (4) A dedEr

The Government appointed a Committee in 1993 on Disinvestment in Public Sector Enterprige,
under the Chairmanship of

(1)  G.V. Ramkrishna (2) Montek Ahluwalia
(3) C. Rangrajan (4) C.P. Chandrashekhar

63. 016N WH. Rmafd & & wafm am.
(1) SR 9 aman
(2) IR dEaIffs g
(3) d=mE e ami
(4) T StEmEer anftr arskidetiy araReTT HrEr
N.K. Singh Committee of 2016 is related to
(1) Twelfth Finance Commission
(2) Twelfth Five Year Plan
(3) Fourteenth Finance Commission

(4)  Fiscal Responsibility and Budget Management Act

64. TSRS, WWWMWWW%WWWWW

SHRUITT ATl ?
(1) ufelr duaife e 2) T dmafie I
3) R dgaffe g @) 9 deaife dom

During which five year plan three major steel plants in the public sector were built up at Rourkela
Bhilai and Durgapur ?

(1) First Five Year Plan (2) Second Five Year Plan
(3) "Third Five Year Plan (4)  Fourth Five Year Plan

AT HMTETS AN / SPACE FOR ROUGH WORK
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C
5. <aTene faam e e
() a T ST 9T BN Wentss (gereem)y wraar s 2021 9ET HOE e
() T R T SAERIBGT avger don .
() &3 T wd fmane detard et ens.
AT BOR/N RAaF/sr @ /e
(1) wad (a) N1 (b) Aa amEa (2) W (a) M7 (c) AT M
(3) as (b) IMOT (c) ArT I @) et |d dra snad
Consider the following statements :
(a) The Deposit Insurance and Credit Guarantee Corporation (Amendment) Act, passed by the
Parliament in 2021.
() The deposit insurance premium is recovered from the depositors.
() The deposit insurance premium is compulsory for all insured banks.
Which of the statement/s given above is/are correct ?
(1) Only (a) and (b) are correct (2) Only (a) and (c) are correct
(3) Only (b) and (c) are correct (4) Al of the above are correct
66. <@reTrar faemr fa=m=Te =41,

FIATATE 9 / SPACE FOR ROUGH WORK

(@) <gof grEfoT JISEIR DS ((SGRY) TR 2001 A G HIUAR STl
(b) HBIHT TN TSI AT KSR B AT (MGNREGS) Hgardl 2006 A8 g HI0ATT TSN
(©) WWW(NRﬂW1989ﬁ®WWWM§WWM.

ax Rrdrear Rremsr/ et o frem/fAer AT ITE/IMEA ?
1) (a) waT (2) (b) Wt 3) (@ T (b) mad @ @3 () wad

Consider the following statements :

(a) Sampoorna Grameen Rozgar Yojana (SGRY) was launched September 2001.

(b) Mahatma Gandhi National Rural Employment Guarantee Scheme (MGNREGS) was

introduced in February 2006.

(c) The Nehru Rozgar Yojana (NRY) was launched in October 1989 for the benefit of the rural

poor.
Which of the following statement/s given above is/are correct ?
(1) (a) only ) (b) only 3) (a) and (b) only (4) (a) and (c) only

P.T.O.
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67. ®rd 2020 AR BT oad nAiE B @ draid wen gaifte ad@ ?
(1) wAlew (2 g (3) IR (4) HERTS
In which state the number of Primary Agricultural Credit Societies was highest at the end of
March 2020 ?
(1) Karnataka (2) Tamil Nadu (3) Gujarat (4) Maharashtra
68. WIS IO ARG R dar sRAoTee s s 58 ?

1) Fo X (2 *fve G
(3) & & yHo (4) Jufe IrEar gEOT
Which of the following is not a quantitative monetary measures of Reserve Bank of India ?

(1) Bank Rate (2) Moral Suasion

(3) Cash Reserve Ratio (4) Statutory Liquidity Ratio

69.

@A e AT afRiier @ w=on A R TRUTAN.

(1) foxim e (2) SEoEE qE (3) Wahe g (4) ¥R T
The difference between fiscal deficit and interest payment during the year is called

(1) Fiscal deficit ~ (2) Budget deficit (3) Primary deficit (4) Revenue deficit

70.

= st HeerE was (CAG)WWWWWWWWR%?@TW&&W
EATeT I SR ﬁaﬂmmﬁ@qﬁmwﬁf&qﬁrmw.

(1) 30 fe=w (2) 60 faaw (3) 90 famw (4) 120 faw
Comptroller and Auditor General (CAG

_ ) has a right to order conduct of supplementary audit and
he may also comment upon the audit report within days from the date of receipt of
audit report.

(1) 30 days (2) 60 days (3) 90 days (4) 120 days

o1 FIHTEIS AT / SPACE FOR ROUGH WORK




C 29 Al6
1. e DT T M ey rafe e awn 7

() LS () dfgffem  (3) @ (4) a@

which of the following substance has the highest thermal conductivity ?

(1) Wood (2)  Aluminium  (3) Glass (4) Silver

L, R TR g W, SR s i iy arguwn A o ey

(1) 17 FeRa (2) 17 Arexian S fbar 17 Aex
(3) 7 Hexuam (4) Tt TR
Echo is heard if the distance between the source of sound and the obstacle is
(1) Less than 17 meters (2) More than or equal to 17 metersl
(3) Less than 7 meters (4) None of the above

73. UR@ISEAT AR WHR SI@ATE Ya¥ HRAl Aen .
(1) s (2 g () Xerm (4) - ifEam

Light enters the eye through thin membrane called the
(1) Iris (2) Pupil (3) Retina (4) Cornea

74, WWWW,WWWWW@W?

(1) NO; o NHj 7 () N¥ NHf =

(3) NH} ¥ NO; H (4) NO;7 ¥ N,wed

During biological nitrogen fixation, nitrifying bacteria convert

1t

() NHj to NO3 (). NOg tol,

L i

R e wmm / spacE FOR ROUGH WORK AR " PT.0.
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75.  wreleta) ey Rur frae,
(1) Y@ Wi wan wn o waten Oy qare g,
(2) Wi Y waAmRY QA Fawinda wrm BT e wie ol o,
®) TR Jur=n sopwaritan ARATRT Yup WA Wt € wiva s,
(@) of o, &, Ty Reet SiRwIRY v wan awifen v,
Choose the incorrect answer :
(1) Bonding molecular orbitals are formed by the additive effect of the atomic orbitals.
(2)  The electron density in the internuclear region in bonding molecular orbital is very low,

(3) Energy of the antibonding molecular orbital ig higher than that of the combining atomic
orbitals.

(4)  Antibonding molecular orbitals are represented by o*, 7%, 8%, etc,

76. = mmw,mwwamﬂw FfRATST O a1,

1) TR () SreEs @) @R (4) wHf

In_______ model of an atom, the angular momentum (mvr) of an electron is an integral multiple
of the quantity h/2xr.

(1) Rutherford’s (2) Dalton’s (3) Bohrs (4) Fermi's

77. S!S/ S O I/t g ¥ WROeR a O e Hrear?
(@) e, AW, 9gF AT AT
(b) wEa, B, FIAF T efeaRy
(c) oA, IR, Heriey 3nfT g
(d) HerieR, wRel, FEa o g

I S -
(1) wad (b) (2) I (b) MR (c)
(3) wad (c) amfr (d) (4) e |d

Which of the following is/are group/groups of reptilian animals ?
(@) Lizard, Snake, Frog and Loris

(b) Turtle, Gharial, Caiman and Tuatara

(c) Turtle, Crocodile, Salamander and Lizard

(d) Salamander, Catotes, Turtle and Frog

Answer Options :

(1) Only (b) (2) Only (b) & (¢)

(3) Only (c) & (d) (4) All of the above

AT FIETATE AT / SPACE FOR ROUGH WORK
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g, i ST

@ Q) e
®) T (i) sfr @
() T T i) =R
@) RS W (v) fr
i S

(@ () (9 (d)
1) @) @ @ @
@ @) Gv) @@ @
@ @ @) @) (i)
4 @@ @ @ )
Match the following :
(@) Python molurus (i) Haemotoxic
(b) Naja naja (i) Blind snake
(c) Viper russelli (iti) Neurotoxic
(d) Typhlops braminus (iv) Non-poisonous
Answer Options :
@ () (@ (@

M Gv) @) 6 0@
@) @) @v) @ @
@) @) (@) @v) ()

; 4) (@) @ @) @)

. ¥ FOES s / SPACE FOR ROUGH WORK oTa
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79. RN aRTe Rowm Wieleha) A 9 Bowr?

(1) Ty, wagregs, wrbven, i

Q) wrgen, §fv, SRR, wugeTE

(3) v, e, wgreE, R

(4) ERETegH, 1, e, Grthem

Which one of the following is the correct sequence of |
(1)  Planula, Hydratuba, Scyphistoma, Ephyra

(2)  Planula, Ephyra, Scyphistoma, Hydratuba

)
(3) Scyphistoma, Planula, Hydratuba, Ephyra
(4) Hydratuba, Ephyra, Planula, Scyphistoma

arval stages of Aurelia ?

80. W SE™ § S m,mmmmm?l
(1) shwsire ) Ror=res @) wheierer  4) feentw

Plants whose seeds are naked, are classified in which group ?
(1)  Angiosperms  (2) Gymnosperms  (3)

Tracheophyta  (4) Cryptogamms

81. WWWWWWWWWW :
(2) e drrEn e g
() T e Geams
(¢) uMEm raaom
(d) wfFde e o
TIENE! DR e /Ry aaR o /ame?
(1) (a) B () (n) ST (b) et
() (a), (b) 3for (c) waw (4)  (a) S (1) Ry

Irrigation in the fields of saline tract affects the productivity of crops because of ;
(@) Degradation of soil structure

(b)  Growth inhibition of plants

(c) Leaf discolouration

(d) Salt accumulation in soil

Which of the given above statement/statements is/are correct ?
(1) (a) only (2)  (a)and (b) only
(3) (a), (b) and (c) only (4)  (a) and (d) only

<A1 FTHTTE AT / SPACE FOR ROUGH WORK
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SiaRk® PIS O BA?

(1) TEEH RN IRAR Juirdy
(2) TETE YU Aoy

(3) T WS quga s
(4) TERN YRUM O RO SO

82.

How the occurrence of Endemic pest is defined ?
(1) Occurs frequently in months

(2) Occurs in few localities

(3) Occurs in the same area year after year

(4) Occurs in an area in severe form

83. ﬁﬁgﬁ:ﬁwmﬁ@aﬂaﬁaﬁmwﬁ?ﬁ?

1) afoa ger (2) SeERa

() THRs fHxu (4) W BEE
Which of the following is used to disinfect surfaces ?

(1) Ultraviolet light (2) Autoclave

(3) Infrared light (4) Sodium Carbonate

84. I IIGEN & A TGl e e ?

(1) e IR (2) TEEE WK

(3) EEeR AT (4) W AR
Which scientist discovered small pox vaccine ?

(1) Louis Pasteur (2) Edward Jenner
(3) Alexander Flaming (4) Selman Waksman

FA1 FTATHIS AT / SPACE FOR ROUGH WORK ~ PT.O.
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85. TR WU R T aEE G Aame) wiwh gd R s A HaaTgs

JERAl?
(1) < fammo 2 Yo aRRE (3) Rvemdm @ (4) fFewd™ d

From the following viruses, which one transfers from one person to other via infected needles or
unprotected sex ?

(1) Dengue virus (2) Rota virus (3) Hepatitis A (4) Hepatitis B

86.

Felel AMFAHE FeAfareal SRl BIol H&l Iga?

12 | 18
40 55 22
? X7
18 = 20
12 | 13
(1) 116 (2) 111 (@) 114 (4) 112

What will be the number at the place of question mark ?

12 | 18
40 55 2
? 79
18 i 20
12 | 13
1) 116 2) 111 (3) 114 4 112 -

87.

vep] Qidiad fardid RED = 9 &mfo BLUE = 10 a8 WHITE =?

(1) 13 (2) .15 3 17 4 19
In a code language, RED = 9 and BLUE = 10. Then WHITE = ?
1) 13 2 15 3) 17 @) 19

e TS AT / SPACE FOR ROUGH WORK
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; 8. %Tmmﬁmz?ﬂ A, B, C, D1 ¥R a3, e ekt arrurer e anfoy
| _—
SN freneit wie

I qed-A | g8-B | gFE-C | g#d-D

ﬂeﬁa argiol fent 24 25 15 17

el e el Wy Afte e sl frendf | 14 13 18 18

g AT ST WG G e orgefof frendf | 8 17 11 15

8 ENECASSIMACEIE] 64 55 46 70

) TG AT DA GHEN T BUAR YHIOT WAl W 367

1 B @ A @) D

4)

C

A school has four divisions A, B, C and D of ninth standard students. The results of half-yearly
and annual examinations are shown in table given below.

No. of students
Result -
Section AlSection B|Section C|Section D
students failed in both examinations 24 25 15 17
students failed in half-yearly but passed in annual exams 14 13 18 18
students passed in half-yearly but failed in annual exams 8 17 11 15
students passed in both examinations 64 55 46 70

Which division has the maximum passing rate in the annual examinations ?

(1 B 2 A 3 D

(4)

C

89.

(1) BeamfrD (2) Banfr A 3)

B anfor E

(4)

A,B,C, D, E oIfo1 F TaT Sl S &ired, BE F anfdr D = wedy 9 oS, E & A anfor C=ar 7ed 9
ok, A Ff¥ar D=1 o g8 Fél. C® D= o g . F & S0l S Ae SHI o7

B anfor C

Six students A, B, C, D, E and F are standing a row. B is between F and D. E is between A and C.
A does not stand next to either F or D. C does not stand next to D. F is between which of the

following pair of students 7

(1) Band D (2) Band A (3 BandE (4) BandC
FA1 FHTE AT / SPACE FOR ROUGH WORK PT.0.
AECF B D 0B F AEC
-‘ ORFCER
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90. iy Y& Trevindier yaw S wmor Y& e 3. 9
: 9:

AT TRl W@ = 8500 M TR ML S, M MY L A Pres =y wardhy e fhdr?

(1) 1521 (2) 1641 () 1672 (4) 1651

The percentage distribution of passengers in different trains are shown in the following pie-chart.

Total number of passengers = 8500. What is the average number of passengers in Trains S, M and

L together ? 5

(1) 1521 (2) 1641 (3) 1672 (4) 1651
91. SIS YT Th 2 Faeie @l W A o, A T 3R 50 New @ anftn

SRS 9 T 40 5 arr%avssomian‘mrrmré’rﬁﬁrmmﬁa?
(1) 799 (2) 6w (3) 599 4) 399
Travelling in a train, a person is counting the number of electric poles, The distance between the

fwo poles is 50 metres and the speed of the train is 40 km/hour. Then how many hours will the
person require to count 5601 poles ?

(1) 7 hours (2) 6 hours (3) 5 hours @) 3 hours
SN
=1 FTHTATS AT / SPACE FOR ROUGH WORK Q€SP Ve Mt*’ 02D 3
o % Qésrp [$3745
L0 \b SR
=< &P gl

S YT T s sa
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: 1 FETAE 80 BTG, M. oy
B Faed @ fFdeT ¢ AN s e 36 Warg T Yean @ 48 Worg, e Wax. TR 12 Qg
IR q¥ foredy wn Qg FASE il e Wed Ed 7

o 20 wC 3) 10% 4) 5%
There are 80 players in a club, of whi ’ |
poth Kabaddi and Cricket, Wl{a(t)fi;"lalch 36 play Kabaddi and 48 play Cricket. If 12 players play
Cricket ? the percentage of players who do not play either Kabaddi or
m 20% (@ 15% 3) 10% @) 5%

e

s, e R PRI O Tl e a7

Tad ;. () e ufrerr Rl iR e ara.
(i) w9 @R RFRe wiperatia R semmE TdEE R SR,
T S
(1) ST TEAD (i) SRS
2) ad A (i) SRS
(3) e (i) SN (if) AE TR
() TEE (i) ST (i) W TIIX E

Find out which assumption is correct from the given statement.

Statem ent : ‘Ci . . st 8 . L.
: igarette smoking is Injurious to Health’, this information is giv thedi
e
packet, because, given on the cigarette

Assumption: (i) People read the information given on the cigarette packet.

(i) Many people take seriously the warning given on cigarette packet.

Answer Options :

(1)  Only (i) assumption is correct

(2)  Only (ii) assumption is correct

®)  Both (i) and (ii) assumptions are correct
@) Both (i) and (ii) assumptions are not correct
S —
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94. TR TUSH SIER, A Y M AeT orer SN 11 13 Wy ween aif arrdier anfor NQI\W@::'_‘; AN
T O Z At arer o — 10 ~12 WA 3Rt v SUCCRSS auffyoren gonaral
e ?
1y -1 2 1 3) 16 (4) 20

: nd N
If the letters in the English alphabets, A to M represent number from 1 to 13 respecnYetIY 2rs for
represent zero and the letters O to Z correspond from —1 to —12, what will be sum of integ

SUCCESS ?
a =m @ 11 @) 16 (4) 20

95. SR WS S 9 fdigew weren WL AW, YUY WS Rigedn wers oy qun SAerer I U
RS . YUl SOdles ARG S 38 U0 Ieel wierl e BIvad wre A,

Telle®! SV fIuM/4 aRIaY e/ amea?

) figa w1 wo¥ o siisren STerm WY A,
() TILY ¥S TR 3N fRigen swerEm ey ey,
() TISY TS RSl SENED AN,

Tl S :

(1) woa fagF (@) afin (i) SRR M

(2) o faEm (@) I (i) WeR ema

(3) wad f9um (ii) ST (iii) TRER omyq

@) f3um (), i) ol (i) SRR oM

Mango tree is in the middle of Gauva and Lemon tree. Papaya tree is near the Lemon tree but not

near the Mango tree and Gauva tree. At the right side of Papaya tree is Coconut tree but at the left
side of Gauva tree no any tree.

Which statement/s of following is/are correct ?

() Lemon tree is between the Papaya and Mango tree.
(i) Papaya tree is between Coconut and Lemon tree,
(iii) Papaya tree is near Coconut tree,

Answer Options :

(1) Only (i) and (ii) statements are correct

(2) Only (i) and (iii) statements are correct

(3) Only (ii) and (iii) statements are correct

(4) (i), (ii) and (iii) all statements are correct

gu%Efk‘)
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96, v TV Hadt quenen 4 Rl ufy aRe A A S anfor 6 Ry wfr TR T WRe I, T
TEU warrEl WA A Qe
W asfeima @ shelam @ a2 fel/a @) 56 R/
A man goes to Mumbai from Pune at a speed (‘)f 4 km/hr and returns to Pune at a speed of
6 km/hr. What is his average speed of the entire journey ?
(1) 4.8 km/hr @) 5 km/hr (3) 4.2 km/hr (4) 5.6 km/hr
97. A ST B YT T THNAW 15 Rawm gt wRa B uwer aa @ 20 e quf SR WA e
A9 oW fFN Rawa i sver?
(1) 60 (2) 45 (3) 40 (4) 30
If A and B together can complete a piece of work in 15 days and B alone in 20 days. In how many
days can A alone complete the work ?
(1) 60 (2) 45 (3) 40 (4) 30
98. IEHH 11 97 AU "Wl Wl TR Fral.
(1) 47 (2 37 (3) 48 4) 49
Find the average of natural numbers between 1 to 97.
(1) 47 @ 37 (3) 48 (4) 49
99. 250 HieX WGl Nea el AR 45 B A, T arEd, T 250 W, A wienH aleisvarer
IS AR ? .
(1) 36 Qog (2) 40 ¥4I (3) 50 W@g (4) 4599
A train 250 metres long running at a speed 45 km/hr, how long does it take to pass a platform of
length 250 metres ?
(1) 36 Seconds (2) 40 Seconds (3) 50 Seconds (4) 45 Seconds
100. I GERE U6 o7, 6% T R, GEIRA N TR 5% Seary Maweren fwe. N Ao |
TeE & S 2014 e WX <R &R fia fedr? .
(1) 9 2000 (2) w9 2011 (3) T 2020 (4) ST 1900
Ravi sold an article to Sudhir at a profit of 6% who in turn sold that to Gopal at a loss of 5%. If
Gopal paid Rs. 2014 for the article, find the cost price of the article for Ravi :
(1) Rs. 2000 (2) Rs. 2011 (3) Rs. 2020 (4) Rs. 1900
¥ oor Bruar o er )
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